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BASIC AUTOMOBILE EN GINEERING
PART-I

ﬁuiﬁaaﬁw:%a‘z‘r] [W“M

Time allowed : V2 Hour] [Maximum Marks : 30
L W (i) W aFeE e e s erd
\ Note : All Questions are compulsory and eachquestion is of 1 mark.
(i) T et F o @17 Y Rafy F sistt aryarr 8 AT & 1
Only English version is valid in case of difference in both the languages.
wl - At 37 | Fre wer v A v o In Maruti van followmg type of
L It chassis is used :
(a) % Frdaor g (a) Rigid control chassis
®) a4 oy frisor M (b) Half forward control chassis
¢ ©) o o Rreisror AR (c) Full forward control chassis
§ d) SRR Es\‘é' i (d) None of the above )
e 7. P=TR iﬁﬂ o SEGS TOT ol From the followings which element is
; w2 not a part of Transmission system ?
(a) w= (b) W (@ Cluch  (b) Tyre
t ) Predmm  d) wETRw (¢) Gear box (d) Rearaxle
3. i % % e fafrost What is the use of master cylinder
I ? in Hydraulic Brake ?
: (a) = R Tm s (a) Increase pressure equally in
ﬁ TP | | wheel cylinder.
i (b) aﬁamﬁwm#m (b) Decrease pressure equally in
i W | wheel cylinder.
. Store the Brake oil.
j (©) e At Y e T @
} ‘ th f wh
; @ et R 5 vt | ()] it;(lzlr;e::: e power of wheel
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4.

10.

I H T E
() TgHtEE (b)) IR
(c) TEE™ (d) e

= dve 3% P | @ e w

TR ?

(a) 3 ufear

(b) v e

(c) TR TRE F U
(d) it i w

TR v | feeAfem @t oet &
(a) W% ae = Freerm & fodt
(b) o I H 9 F o2
(c) = Frer & ford

(@ IF 97 T T g F R

g eRF it s w
=it B 7 T 3 W ?

(a) fe &iw '

(b) TR

(c) v fiax ug ofer et

@) ==

FE DTV TR A T F sk ?
(a) T A

(b) wEgRET T

(c) fem 2w

(@) =i wig Ze

fradasmwaRmwm o ¥
(a) @& (b) oW T
() ferfmmm (d) e

o ¥ T H v oW
e &

(8 3%

) eI

(c) THae O

@ SR E Rl

@

10.

Material of Brake lining is
(a) Aluminiam (b) Copper
(c) Asbestos (d Iron

The Hand Brake usually operate on
(a) Front wheel

(b) Rear wheel

(¢) Right side wheels

(d) All the wheels

Bleeding is done in Hydraulic Brake
(a) For removing brake oil

(b) For filling Brake oil

(¢) For removing air

‘(d) For increasing pressure of

brake oil.

From followings the type of wheel
which cannot be used with a
tubeless tyre is ?

(@) Disc wheel

(b) Wire wheel

(c) Light alloy wheel

(d) Composite wheel

Which type of wheel is used in car ?
(a) Wire wheel |

(b) Aluminium alloy wheel

(c) Disc wheel

(d Magnesium alloy wheel
Which one of the following is not
part of chassis ?

(a) Wheel (b) Front Axle
(c) Differential (d) Seats

The distance between the centres
of front wheel is called

(a) Track

(b) Wheel base

(c) Axle width

(d) None of the above
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12.

13.

14.

15.

16.

 (a) frrdEw

@ 04
© 10

(b) 0.8
@ o2

YRYYT YUNER T BT W HEGIT T T
TRYY ViR F T W e T e
FHEm Y Tk ?

(b) T
(c) o A d) Ferifama
e ¥ e dtey = e ¥
(a) iy aReem & e

(b) - et afedw ¥ R

(c) 7™ ¥R

(d) wfF =gH & fed

“WIeR O # o= # wiads &

o 2 ar g wm o amEr &0
@) FmiE |

(b) e

() femsig .

(d) IR

mhwwﬁhﬁaﬁaﬂavﬁgwm%
(a) WiUeR ¥R = o / aiEds
(b) W viree @ 1Ry F e

(c) TieR Vi ¥ WoT W Aol
(d) Iy |t

TR W Ifea wew  P195/75

R14/8PR # 14 wfer #wen &
(a) wmEEn

(b) Ve = =ER

(c) RIS U

@ faw=w

@
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The coefficient of friction for the
clutch facing is approximately
(@) 04 () 08
© 1.0 d 0.2

Which element of transmission
system is used to engage and
disengage the engine and
transmission shaft ?
(a) Gear box
(c) Front Axle

(b) Clutch
(d) Differential

Gear box is used in automobile for
(@) Changing speed

(b) Changing torque

(¢) Reduction speed

(d) Increase power

For changing length of propeller
shaft which joint is used ?

(a) Pin joint

(b) Universal joint

(c) Slip joint

(d) None of the above

Work of Universal joint in a

transmission system is

(a) Change of length of propeller
shaft.

(b) Change of speed of propeller

~ shaft. _

(c) Torque transmission at angle
by propeller shaft. .

(d) Al of the above

In number P195/75 RI14/8PR
marked on tyre, 14 represent

(a) Ply number

(b) Width of section

(c) Aspect ratio

_ (d) Dia.ofrim

P.T.O.
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17..

18,

19,

- 20,

21.

22,

23,

i Reafmergm g ¥
(a) sin@-sin¢=b/l
(b) tan®—tan¢="b/l
() cotd—cot@="b/l
(d) cot@—cotp="b/l

E e ad Y
(a) T T T WIR BT & 7Y
(b) WK W g ¥ fom & oy
() wafamFragd

@) T %o}

TTEA %! SAfywaH oo O &
(a) ZmfmRA  (b) wom P H
(c) Tl fired

Wﬁvﬁwmﬁﬁmmﬁ
am ¥

(a) wfmm
(b) & firR
(c) e fimR
(d) WwafifFEs .

frddeam e A € ?
(a) S wERTdT v

(b) F FAST T

(c) ot T T TS
(d) U |t

Frer 9 9 Q e ) g A 2
@ ¥ ® ™
© = @ Feeterdr &

it ameet ¥ R e En AT &

() 1.83 WieT | =Ry

(b) 1.83#WeI A=A
(¢) 2.0 ¥R R vy
(@ 183720 xFHme

@) s

@

17.

18.

19.

20.

21.

22.

23.

—

- (d)

Main formula of corréct steering is -
(@) sinO-sin¢="b/l

(b) tan@-tan¢=b/l

(c) cotd-cotO="b/l

(d) cot@-cotd="b/l

In clutch, clutch plate is fitted

(a) between  flywheel
pressure plate. .

(b) between pressure plate and
clutch spring.

(c) after clutch spring,

before flywheel.

Maximum speed of a vehicle is
(@) Intopgear (b) Infirst gear
(c) Insecond gear (d) In third gear

and

In constant mesh Gear box, gear
used is

(a) Spur Gear

(b) Bevel Gear

(c) Helical Gear

(d) Rack & Pinion

From followings Wthh is Reverse
Axle '

(a) Semi ﬂoatmg axle

(b) Full floating axle

(c) Three quarter floating axle
(d) All of the above

From followings which vehicle
having open body ?
(@) Car

(¢) Truck

(b) Bus
(d) D@livery van

"Overhang for heavy vehicle is

(a) More than 1.83 m

(b) Lessthan 1.83 m

(¢) Morethan20m

(d) Inbetween 1.83 &2,0m
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26.

27.

28.

29.

30.

N S —

w1 vt ¥
(a) fedfraflr (o) wam
(c) TPA AW @ T

mt{iﬂaﬁwmﬁmﬁm‘t
(a) T8
®) -9

(©) USRS

@ IREIANES

:?mﬁmmmﬁm
(a) T = i w3 & e
(b) 9 ¥agHia

(c) Tt WA i

(d) TR F

vt aAt ¥ i gedve 3 e o o
o et for &

 (a) e fam

(b) W shafesm fow famr
(c) e T
(@) e e

P S QB RS TR T ?

fipht ST W ST AR B ¥
(a) AEAFARH20%
(b) A & WK H 40%
(c) oA F A X H 15%
(d) T F AT H 30%

;ﬁmﬁﬂzﬂﬁﬂmWﬁm

(@ 20:1®30:1

(b) 14:1924:1
(c) 18:1

(@ 25:1935:1

(Y4

6))
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From followings which element is
not part of steering system ?
(a) Steering wheel
(b) Drop arm
(¢) Knuckle arm

(d) Tyre
Section of middle part of front axle is
(@) T-Section

-(b) I-Section

(¢) U-Section .
(d) Any of the above

Shock absorber is
automobile for

(a) Storing the energy
(b) Dissipation of energy
(c) Increase the energy
(d) Decrease the energy

used in

Spring used in shock absorber of
heavy vehicle

(a) Coil spring

(b) Semi elliptical leaf spring

(c) Rubber spring

(d) Plastic spring

From followings which is not a
stub axle ?

(a) Elliot

(b) Non-Elliot

(¢) Lemoin

'(d) Reversed Lemoin‘
‘Unsprung weight of a heavy

vehicle is

(@) * 20% of vehicle weight
(b) 40% of vehicle weight
(©) 15% of vehicle weight
(d) 30% of vehicle weight

Steering Gear ratio in a passenger
vehicle is '

(@ 20:1t030:1

(b) 14:1t024:1

() 18:1

d 25:1t035:1
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BASIC AUTOMOBILE ENGINEERING

PART-II

Fraifa v dw g ] [SRrpeT 37 : 70

Time allowed : Three Hours] [Maximum Marks : 70
T (i) IO A & v A g et e & s R
Note : Question No. 1 is compulsory, answer any five questions from the remaining.

(i) FeEw g7 & T 0 B FHER 0 qrey ger F |

Solve all parts of a question consecutively together.

(iii) 7w 7¥T T4 §S T AR FAT |

Start each question on a fresh page.
(iv) 31 st F o g7 @) Refr & sient argar ot ara & 1

Only English version is valid in case of difference in both the languages.

1. Torfafes vt & dhie secdfe
Write the answer of the following questions in brief :
() o 3EF I Reward iR
Give two characteristics of brake fluid.
(i) ST AR W T |
Explain unsprung weight.
(iii) FeshReraet 1w w gar ¥ 2
What is the function of a differential ?
(iv) Ffraer g s T &7
What is the function of a universal joint ?
) aﬁa%« D | | .
Explain wheel base. . A (2x8)
| 0) P.T.O.
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(ii)
@
(ii)
®
(ii)

®

) 2080
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Explain classification of automobiles.
TR TR e % -3MSE B T |
Explain layout of conventional type vehicle. (6x2)

et 3 e e SR ¥ 7 T TR # TR one S |

What is the purpose of suspension in vehicle ? Explain the independent type
suspension system.

et feaftnr s @ ¥ 2 mmﬁwm%mmww |

What is correct steering ? Derive an expression for basic condition of correct
steering. (6x2)
S Tt RARATER S ST e o e W |

Explain the construction and working of Tandem master cylinder with figure.
& AT H WO Y TG T FTIUEA T W |

Explain the construction and working of hydraulic braking system. (6x2) |

=T TR & Tl i W W |

~ Explain the construction of various type of Tyres.

(ii)

@

(if)

L@

(ii)

ZRRY 3 ST Bt i w oot Rl e B T |
Explain the various factors affecting the life of tyres. ‘ (6x2)
et <) st 3 Rzt Prre et ot s Wt ot Y weEE |

Explain the construction and working of any two type of steering gear boxes.
YT T B YT T FEROA Tt W T |

Explain construction and working of a multiplate clutch with figure. (6x2)
it ¥ S R wee @ i W@ |

Explain the frameless construction in vehicles with ﬁgure

T el e B geeE |

Explain torsion tube drive. 6x2)

P.T.O.
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8.

Praffere & & Rt ot = geme
Explain any three of the following :
@ e
Chassis
(i) e Ay fire st
Constant mesh gear box
(iii) =T 3 e RO YoM ¥ e e & Wt
Functions of main components of powet transmission system of vehicle
(iv) a6 % it # e Rvwend
Main features of body of vehicle.

@3)



